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• 

--- ---------

SECI'ION I (40MKS) 

( A 11.vw11r u/1 q11e.vtin11,, /mm 1/1/s !lect/011) 

I. Use logarithnrn 10 cvnlunte

4.73 X 22.il I 
82.3 

IS'ttf f.,w.., l11.1 
't•73JCI0 ° O, f.'149 

�·:24l){t01 1 . .a6o't -t 

:t·0�52> 

'ill., :! g · 2� x I 'I) 
1 

I • "' I G 4
-

o · I o9"1

1 · � 2 � I· 21i X 10•• l"

2. Solve for x in 109381 = x

3. Use 1ables of cubes and reciprocals to cvalualc

·� 0.1
v0.49S + 0.0351

(tt<t • i X �) t -t

, 

7• 0,6 �4 X :o 

0· 'fO!> G."'I +

o,1osi9 'T

3 . .!>5 4-'-�

� Jt _!_ -t _, 
3•t'I ,,, 

o,l114-Cf l( ' 0

':l• i4q 

I 

( 

(3mksJ 

(3mks) 

(4rnks) 
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4. Whan u 11u111hcr is divided by 8, 9 and 6 lhc rco,n1111ldrn are 7, 8 und 5 respcclively. Find the
number. 

.,J . - i .. 9 .Jcj"• '� e�v.ti.. '°'1 � L• C• M 0) .) 

\...e.\ � "'""\Ill\\,,., bl ,J . (Jm 

�"-� 4'\A\o�Q t. \,\� j_ (.•-• Ll- • 

s '2, 1 

N Y�IM -::- �
-, 
� 

"' y' .t. � :s 
- J 

S. A line wilh gradicnl -3 pa!,ses Lhropgh (3, k) and (k, 8). Find the value of k and hence Lhe
cqu1111on of the line, where a. band care c-0nslanls. (4mks) 

- -1.- -

\ 

i- K-=- --i\.(.-t�

gK-K-=-q-1 

� K ::: 1 

K � 1/'l., Qr O · 6 

• 
�- s. 

-

)(- 1. 

�- _L -=- -2, X t9
':L 

'� - (;X -ti"& 
:l� -

:2 j ::::. - G, x. -+ l Cf

� := -3 )(., -t- 'o/l..

6. In a fundraising con1111i11ec of 45 people, the ratio of men to women is 7: 2. Find the number
of womuo,rcquircd to joh1 the cornmiuec so that the ratio of men to women is changed 10
S: 4. (3mks). 

lt.-r � o, ,,,U,_,I,\ i,,-. ... ,..., � = .::
lo4- :::,c. \ o+x. 't 

\"'�.\--1Q \ � <2\, l""l'\I.I,\ 

� ¼, ,c c+-.r = a&

I 'I'\ ,·he.. l ,it. 0� W!)-.1"'"

-::: o/-. 7'-44(= \O

'Pt f �t,( )( W1» -.t \,- �,;, v-.l.J I 

\tio ,..°' \-i o c:1..c,,"'S u� � r ! 'f-

.5,0 1" �x. =- ''t 0

S:x.-::: 9 o 

:x. -:::. � 'O 

:::c ::::.. l i w .. _,_ "' . 
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7. The murkcd Jlricc of u cnr in n dcolcr's shop was K.�h. 450 000. Simiyu boughl the car at 7%

disuounl. The clt:ulcr Nlill mode o prolil of 13%. Colculale the amounl of money the dealer

hml pnid for lhc crtr 10 lhc ncurcsl thousands. (4mks) 

� )(.'ttoe>OO
100 

::. 4' I '3 !. 0 0 , ..

I I � ;. =- 41 1 1: 0 o

\00 61. -- �

I I 3, 

8. TI1e s11..e of on i111crior angle of a regulnr polygon is 311° while lha1 of exterior is (x-20)°. Frnd

1h1: number of sides of lhc polygon. (3mks) 

ox•+ (:,c,-�O) C. l1r0
°

- iwo-t'l-0
-

• 
_ ?-OD 

::x:.. -
• 

so 

- - . 

� _s O - 'LO :. ;?, 0 

3"o• 
- :::. I !:l -£ t�c.-'
2,0 

9. The GCD and LCM of three numbers arc 3 and 1008 rcspect.ively. lftwo of the numbers are

48 und 72, find the least possible value of the third number. (3mks)

&•C.•t) -: 'l 

L· c. • M '= too'3 

= -;:i ... )( '!
'I. 

'1-7

\ ,r\- No : 4 t -::. < 't X 3

�"'"NO\ 7 :2. ::: � '2 x 3. '2.

2,rJ. No : =. "b X 7 
::= '2 I

E)\"" 

l! ,c:,\ tJ o :: -21 X 1

:::. G 3. 
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I 0. A straight line through A(2, I) nnd B( 4, m) is perpendicular to the line whose equation is 
3y = S - 2x. Dctennine the value ofm. (3mk.q) 

.s 'j ..... ..t - �?C. 

'!t � -_?:::,c..-t �.> 3

MW b. \,:-._.J, t-ti,l'll1..=--I 

HI- \ 

4 -1. 

�l"l'I -1. � '

�W'I � s 

11. Two similar solids have surface areas of 48cm2 and 108cm2 respectively. Find the volume of
the smaller solid if the bigger one has a volume of 162cm3

• (3mks)

A.•s-p.: '''��
4'9 t 

l· t · F · � � \ -=- -- �/
'l..

�
"\J. � . F . -: ( L· S, � ) 

-

�)
3 

- '21/-
1 

l (, '1..

?C. 

L2. Given that cos(x - 20)0 = sin(2x + 32)0 and that xis an acute angle, find tan(x - 4)0 

,. · • (4mks) 
�-2.0) -t�x.+1.1.) =-4o 

g � -:::: 'l s 

?C- =- ..,, ':- '2."
-tTAV\ (?::- 't) 0::. �"' ( '2" -4-). 

::. "TIA "' :l.. '2. �
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SEt"I 10 II ('Ui\ll<S) 

13 Theooordinatcsofaumnglc UC arc A(I, I) 13(1, I) nnd C(l,l) 

la) riot the tnMglc ABC' (I marlc) 

(b) Tnanglc ABC underg= 11 lmnslnllon vo:ctor (� ). Obltun the image of A' B'

C' under the transfonnation, wnte the coord111utcs of A' O' C'. (2 marks)

oA': (� J-t-(�J 9_!)* A '(i, i)

0 '6 \: (�) 1-(�) �(�) � 2,
1 (-', i)

oc '� (�) ��) �l! J 
C.

1 (l 1 S"J 
(c) A' B' C' widcrgocs a rencction along the line X = 0, obtain the coordinates and 

plot oo the graph points A" B" C". under the transfonnation 

A 11 (-1, 1 l) � 11 (-;, 
'?>) c,'' (- 3, f:. \ 

( d) The triangle A" B" C" , undergoes an enlargement scale factor -1. centre

origin. Obtain the coordinates of the image A'" B"' C'".

A"'(�,-?>') c..111 

li, -s)

fl Ill ( S' • ?, )

/ e) The triangle A"' B"' C"' undergoes a rotauon ccntn.: (I, -2) angle 120
°
. Obtain 

the coordinates of the image A" a•• c•.

(I) Wluch tnangle., are directly conwu,.mt.

1',6C.. ... c:\ A
1

1fb 1 C.
1 

°'" II.'" c:.\" Pi''' 
A 

Ill c. "' 41"-c\ A II:) 

(2 marks)

(2 marks)

(2 marks)

(I marlc) 
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14. ,, 1•,1111111 I "''" i.,11 11•1111 •\ II I I I . 
I ' 1 11m 11111 h 11h1ll,1,I Uh I I j 

(l{)km1h11 ,\ h\nlnl\l ,�n \,111•11 II I 'I lj 
Y!III • ''" II' I uh,1111lt�l'"l!O Rf't•1id .. r 

I a I !

11lo1111, 1h.i-�111\\• 1'1111J ,,1 11 

u . 1 111 r "" tho N11111ci duy ,111LI h11vcllc,I t11wnrdq town A 

11 II\ �l'lll!C Np<!v,1 11' tJOk /I rt 1 

�-10 l,.10 I khlt 11\tt\Om" 

1 111 u. w 1 1011111�" hclwuv11 011• IW1> lllWti• lo 

(111 {h1 m11euh1h1• th�\! ihc two vdll.:lllb 111�1. ('11r1111 "") 

lt.,f-t "' S4 o - "o

-:. 4 .c o K""'

C\O-t-G,o ::. I (o kw,/1..

- I' 4!

,.�o 

\\�l 'ffl\l.t"' � 
4to 

I 1 t:t

,,� "cf ttQ. 
'Dt.tta \I\ Cl �Q\)tllt� ,.'f low, I 

�o"' I• r.-=- 90�""'
(b) H,,w far from town f\ they met.

iuo c:l,��\o\c.t ',f.o- ,.,,, .... 

=Go\(;."'\"' )(. :; �o�',

-:::. 1-s O \.(. W\ 

1:>,·..M11"' CJL �""' A •.

9 0 � \ i O � -:I.. 'l O \.t..N! 

=:. '-4-S O \("" 

D,-'�� ct O)\lt.Yu::\ 

:KI:� 

..I. 
' ' \ s 

� 1,. o a 

't . ' s: ? ""' 

.:!s 

(2murk�) 

(4marks) 

t«>v•rt& 

t)i�\1\0 OJ,- ftwJ f,,,"""

M c.+ci. � f .t"' C kt d A

't Go l<i-n - � �o kw,

-:::. 9 o k"" 
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15. Toll table below shows the mo.ss to the nearest gram, of IO I mango seeds in a research
station.

Massfomm) 10 -14 15 -19 20-24 25 • 29 30-34 35-39
F[l:(1ucncv 2 14 

(a) State the modal class.

(b) Calculate: to 2 decimal places:
(i). The mean mass 

Nlu.J 
'"'" �·

. 
� C.•�· 

to-\'+ I :t � 2. 

1.5-IC\ 17 ''t' 't-

au a1" �?.. 13 4<\ 

33 35 14 3

•• 

.f� 

�'-\ 

-

Nl 'Cl"', )(

:2. 3 4& 

't � � 

,,a,a %4'- :2 7 1-S i't C\'+� 

3o-3 .. - -- !:l.
�-- - l

as� .s.,

�D .• 

''t 9i 

3 Io I 

�IOf 

• 

4- 4i

I I \

tf )C-: �4C\l 

. ,.. 

(ii): The difference between the median mass and the mean mass. 

�c.c:l,�"' -=-- �4•; + (� )s· 

: � '1 . ! + 0 . 2� f; 7 

:: -:l4•'f �S'7._5 

� :;). 4-· 1 '\ � 

(I mark) 

(4marks) 

�f-X 

�f 

- 12_4q i. -

Io I. 

- 'l.4· rorr 3-

(Smarks) 
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16. hclicoptt•,·, · �\:ltt,mro at nn nirimrt II on "bearing of 060" anJ SOOkm from llnother airport
P. A third ilhµt1r1 J 11-ln n bearing of 140° nod 120km from H.

n. l <ll\Jl ll•>IMk of I cm l\,1>rcsents I 00km:
i. Show the relutivi.! positions of P, U and J

n. Dct.-rmmc the distance between P and J

,u. State the bearing of P from J 

r 

(2mks) :l.'1

(b) A jct flying a1 a SJ>ecd of 103lnn lh left J towards P. The helicopter al H i�so took ofT

towards P 111 the same tim..-. Find the spc'1.:d 01 which the hclicoplcr will fly so ru; 10 arrive

at P 12 minutL'S later than thcjd. (Jmks) 

•
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17. Given that y = 2x2 
+ 3x - 7 for -4S x :;; 3

a. Complete the table below

X -4 -3 -2 -1 0 I 2 
2x' 32 18 ',2 2. 0 2 8 

3x 

-7

V 

-,� -9 - C. -3 0 3 
-7 -7 -7 -7 -7 _.., 

I -i, 4 -5 - 'i -7 -2.

b. Draw the graph y = Zx2 
+ 3x - 7 for -4 S x :S 3

c. Use the graph to find the roots of the eqUJ1tion

i. Zx2 
+ 3x - 7 = 0

6 

-7

7 

� :.2x
-i. 

-t�x-1

o::�x
-i. -t--i)(-7

:x,. :::. - � • f,o OY

� -:::. 0

11. 2x2 
+ 4x - 9 = 0

�:: lX
.,_ -t-3� -1

- 0: '2.,)(
'I. -t- 4-><. - 9

0 G, 

Oy :::c -:::. l· 3 

(2mks) 

18 

°' 
-7
2.,.:, 

(3mks) 

(3mks) 
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